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1. #%EA A={X|-2<x<1}, B={x[0<x<2}, N&EHAANBET

A.{x|—1<x<1} B.{x|—2<x<1} C.{x|—2<x<2} D.{x|0<x<1}
2x,x>0 4 1
2. B f(x)=4 , M)+ F(=2) &
ALY {X+Lx£0 MR T %
Al B&g C.2 D§
3 3

3. Ig2+1g5-log,1+log, 2 IfE A

A.2 B.2-a C.lg7+1 D.lg7

4. BERBOyY =X @yzloglx; @y=|x-1: @y=2", HATEXIE (0,1) b iR E w7 52
2
A.D®@ B.2® C.O® D.O®@
5.2 52
5. Ba=1, b:(§)5, c:(§)5, M a,b,c FIR/PNKRE
A.a>c>hb B.a>b>c C.c>a>b D.b>c>a

6. Ol p:x=1, q:xX*=3x+2=0, N pZqhy

AT LB B EA 75 26 A
C.RREXM D.BEA T 7 A b 4 A

7. Bt A={x2<2 <4}, B={x]2-a<x<a}, #HBcA, MalmfEiEE
A.(—0,1] B.[1,+) C.[2,+0) D.(~%,2]

8. CHIBREL f(x)=2x>—7x* —2x+7, 1€ FAUiEEP IEfR 2

A (L0) fERREL £ (X) —ANE A B.EE#L f (X)) RAMWANE A
C.RHL f(X) 7E (3,4) E&EAH —NE N D.5R % f(x) 7E (3,4) LI%HEA
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Ay = x+§(x2 2) [y 85/ ME g

A.2 B.2V2 C3 D.\2
10. &%%M:{XGZ||X—JJ<2}, N:{yeN|y:—x2+2x+1,XeR}, )

ANeM B.MCN C.NCM D.M =N

1. CHERE (X)WL OF AR : @fEE xeR, A f(x+2)=2f(x): @M xe[-L1#F, f(x)=—|x+1. I
Jit& f(x) =log, |x| 7E X [8][-10,1]U[2,10] P fiF i %2
A.18 B.12 C.1l1 D.10

12. TG A, EXT Mighea”, ffFES AT RH LR MR TRee A, ifFXERacA,
#Hfie®a=a®e=a, WiKKHme2ES AXNIEH® "HRA TR, HlU: A=R, iZH“® @Rk fFE
leR, fifixfiEacR #iHIxa=axl=a, FTLACRLZES R W FEREM AL ICER. FHSGHE =AMES K
R IE @

DOA=R, BHE“®” LB, @A=R, zZHE<“®”NEIEIN;
® A:{X X M} (HhM ZEEETES), BHD " NRWNMESIIZTLE.

AO® B.OG C.O26 D.2®)

1

LSS ORI 8 AN, BE/NEL 4 4y, 332 43

13 A p R T EROG 0 x> X +27, W —p £

X

14, FHRT XWHFE X —(M+Dx+m® =0 A STHRRA X, %, » HZZ+%:%, W SEH m B :

15. BMEA A={2,4,2"-3a+7}, B:{l,Sa—S,—%az+ga+4}, & ANB={5}, WsLHalfEn

16, FEAL T 51— S b AL P2 2 AL P SR 72, AR LSRRy (T370) B8 x (D) 2 [A] ) R G &
An) Ak UEI’J%%Tjjy———48x+8000 CURH G AR 7 A P B i R O 210 W, S A= St P15 Y T 4004 40 T3 e,

AL 25 Rk W, AT LAR A fi KA 72 JiJt.

17. iﬁ%é\Az{(x,y)‘i—_f:Z,x,yeR}, B:{(x,y)|4x+ay:16,x,yeR}. #FANB=0, W% a e N

18, BRIET x (ORSER x+1)+ |x+ 2] > ¢ RSN R , WIS C IR T R Y .
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19. BflabeR, @i FHIIANKME: Da>b-1; @a>b+1; Gla|>b; @Da>[b|. ff“a>b”RLHI LRI

KA :

20.

=]

7 SRR Z Ay :

21. (1549

4> +y* =4
y=x-1

(D Zkﬁﬁéﬂ{ (e ;

(2) RET X BIHTFEX(X+3m+1) = (x+m)(x + m+1) KIfESE,

: 2_4x+1
(3) kAR TS e,
3XT—Tx+2

22. (14 49> SRIFE f(x) =log,(L+X), g(x)=log,(l—X).

(1) REREL (X)) — g(x) B e Xk
(2) FIWre& % £ (x) - g(x) AL, If 3 LUEM;

(3) RALE (x)— g(x) > 1AL A x HHUE T .

23. (13 4)) CHIRE f(x)=ax® —(a+D)x+1

(1) FEEHF (x) BRI I A (—02] . TS % a = .

() fERF x A% ax’ ~(a+1)x+1>0.

3/4

RFEAE R S H AL E TS

= R AKRIL 5 NV, 3K 70 o, RN HOSCTF R, IEMTE R R SO IR

B TRAE S 19T 0 EMTRRUN S (B0, 4 SEM = {%%% . ﬁ} , WA M PG S S5 e %



24. (1473 BHEH f(x)=x*, g(x)=x-1.
(1) HHEExeR, f# f(x)<bg(x), KH b HIHUETEHE;

(2) WFX=f(x)-mg(x)+1-m-m?, HI|F(x)|7E[0,1] FHiidNg, ReHm fIEEHEL

25. (14 73) CHEES M 22 FHMER T BREL f(x) ik FEFEEEHRT, MMERExeR, A f(x+T)=Tf(x)

(1) HBHRE f)=xZ2H/TEEM , FULHHEH;
(2) KR f(x)=a"(a>0a=1) MEBRS y=x WEEGE AL, EH: K fX)ETEAM;

(3) REfAESSa, 3 () =x|x—a BTHEEM ? EEE, KRESHa MPUERE; HAFE, Hiy
H.
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